
Q.1 िदए गए चार अƗर-समूहो ं मŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस असंगत
अƗर-समूह का चयन करŐ।

Ans 1. BUMD

2. WPHY

3. MFXO

4. GZSH

Question ID : 65497843476

Status : Answered

Chosen Option : 4

Q.2 िदए गए िवकʙों मŐ से उस अƗर-समूह को चुिनए जो िनɻिलİखत ŵंृखला मŐ Ůʲवाचक िच˥ (?) के
̾थान पर आ सकता है।

ECDR, BGYW, YKTB, VOOG, ?, PWEQ

Ans 1. SSKM

2. SRJL

3. SSJL

4. RSIL

Question ID : 65497843979

Status : Answered

Chosen Option : 3

Q.3 पांच दोˑ H, I, J, K और L एक ˋूल के शीषŊ रœक धारक हœ। H का रœक K के रœक के ठीक ऊपर और L
के रœक के ठीक नीचे है। I शीषŊ रœक पर है और J सबसे िनचले रœक पर नही ं है।उनमŐ से सबसे िनचले रœक
पर कौन है?

Ans 1. J

2. K

3. M

4. L

Question ID : 65497842069

Status : Answered

Chosen Option : 2
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Q.4 98 िवȨािथŊयो ं की एक कƗा मŐ, सभी िवȨाथŎ तीन खेलो ं- ˘ूकर, शतरंजऔर टेिनस, मŐ से कम से कम
एक खेल खेलते हœ । 42 िवȨाथŎ ˘ूकर खेलते हœ, 49 टेिनस खेलते हœ और 43 शतरंज खेलते हœ। कोई भी
और केवल दो खेल खेलने वाले िवȨािथŊयो ं की कुल संƥा 29 है। 5 िवȨाथŎ तीनो ं खेल खेलते हœ। केवल
˘ूकर और केवल शतरंज खेलने वाले िवȨािथŊयो ं की संƥा समान है। 11 िवȨाथŎ केवल ˘ूकर और
टेिनस खेलते हœ। 6 िवȨाथŎ केवल ˘ूकर और शतरंज खेलते हœ। िकतने िवȨाथŎ केवल टेिनस खेलते हœ?

Ans 1. 20

2. 21

3. 23

4. 22

Question ID : 65497843084

Status : Not Answered

Chosen Option : --

Q.5 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है जैसे दूसरी संƥा पहली संƥा से
संबंिधत है।

27 : 576 :: 19 : ?

Ans 1. 328

2. 256

3. 543

4. 498

Question ID : 65497842780

Status : Answered

Chosen Option : 2

Q.6 उस सही िवकʙ का चयन करŐ जो िदए गए शɨों को उसी Ţम मŐ दशाŊता है िजस Ţम मŐ वे अंŤेजी
शɨकोश मŐ होते हœ।

1. Magnetic
2. Magnify
3. Magnet
4. Magical
5. Majesty

Ans 1. 4, 3, 1, 2, 5

2. 3, 1, 4, 2, 5

3. 4, 3, 2, 1, 5

4. 4, 1, 3, 2, 5

Question ID : 65497843576

Status : Answered

Chosen Option : 1
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Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842082

Status : Answered

Chosen Option : 3
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Q.8 िन̱नांिकत पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
उसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

15 81 12
18 99 15
17 120 ?

Ans 1. 13

2. 9

3. 16

4. 11

Question ID : 65497843489

Status : Answered

Chosen Option : 1

Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843495

Status : Answered

Chosen Option : 1ww
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Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843999

Status : Answered

Chosen Option : 4

Q.11 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामा̢य ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
सभी कमŊचारी करदाता हœ।
कुछ कमŊचारी िकसान हœ।
कुछ िकसान डॉƃर हœ।

िनʺषŊ:
I. कोई िकसान करदाता नही ं है।
II. कुछ िकसान करदाता हœ।

Ans 1. दोनों िनʺषŊ अनुसरण करते हœ।

2. या तो िनʺषŊ I या II अनुसरण करता है।

3. केवल िनʺषŊ I अनुसरण करता है।

4. केवल िनʺषŊ II अनुसरण करता है।

Question ID : 65497843989

Status : Answered

Chosen Option : 4

Q.12 िकसी िनिʮत कूट भाषा मŐ, 'FOREST' को 'GUSITU' िलखा जाता है, और 'MANGROVE' को
'NEOHSUWI' िलखा जाता है। उसी भाषा मŐ 'REINCARNATE' को कैसे िलखा जाएगा?

Ans 1. SIOODESOEUI

2. SIOODESOEFF

3. QIOQDESOEUF

4. SFOFDESOBUI

Question ID : 65497844084

Status : Answered

Chosen Option : 1
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Q.13 िनɻिलİखत समीकरण को संतुिलत करने के िलए िकन दो िच˥ो ं को आपस मŐ बदलने की आवʴकता
है?

72 × 18 ÷ 9 + 19 − 39 = 16

Ans 1. - और ×

2. ÷और ×

3. + और ×

4. - और +

Question ID : 65497842076

Status : Answered

Chosen Option : 2

Q.14 एक मिहला की ओर इशारा करते Šए रीना ने कहा, "वह मेरे ससुर की इकलौती बेटी है।" मिहला रीना
से िकस Ůकार संबंिधत है?

Ans 1. बहन

2. पुũी

3. ननद

4. मां

Question ID : 65497842068

Status : Answered

Chosen Option : 3

Q.15 एक िनिʮत कूट भाषा मŐ,'POTATO' को 32-30-40-2-40-30 के ŝप मŐ कूटबȠ िकया जाता है और
'TURNIP' को 40-42-36-28-18-32 के ŝप मŐ कूटबȠ िकया जाता है। उसी भाषा मŐ, 'RADISH' को
िकस Ůकार कूटबȠ िकया जाएगा?

Ans 1. 18-1-8-38-18

2. 36-1-4-19-16

3. 18-2-4-19-18

4. 36-2-8-38-16

Question ID : 65497842772

Status : Answered

Chosen Option : 4

Q.16 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है जैसे दूसरा पद पहले पद से संबंिधत है
।

IVORY : ZWSPJ :: CREAM : ?

Ans 1. NFDQB

2. SNFDB

3. DSFCN

4. BQDZL

Question ID : 65497843073

Status : Answered

Chosen Option : 1

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.17 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

24, ?, 52, 312, 320

Ans 1. 42

2. 30

3. 35

4. 48

Question ID : 65497843485

Status : Not Answered

Chosen Option : --
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Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842785

Status : Answered

Chosen Option : 1
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Q.19 िकसी िनिʮत कूट भाषा मŐ, ‘this is fact’ को ‘cuz duz ruz’ िलखा जाता है, ‘fact is fictional’ को
‘guz ruz cuz’ िलखा जाता है, और ‘doubt is clear’ को ‘cuz kuz buz’ िलखा जाता है। उसी भाषा मŐ
‘this is fictional’ को कैसे िलखा जाएगा?

Ans 1. duz guz ruz

2. duz buz cuz

3. kuz guz ruz

4. duz guz cuz

Question ID : 65497843480

Status : Answered

Chosen Option : 4
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Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842790

Status : Answered

Chosen Option : 4
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Q.21 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

74, 74, 72, 24, ?, 4

Ans 1. 21

2. 20

3. 15

4. 9

Question ID : 65497843991

Status : Not Answered

Chosen Option : --

Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842079

Status : Answered

Chosen Option : 4
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Q.23 िनɻिलİखत अƗर ŵंृखला मŐ Ůʲवाचक िच˥ (?) के ̾थान पर कौन सा अƗर आएगा?

E, J, N, Q, S, ?

Ans 1. U

2. V

3. S

4. T

Question ID : 65497844087

Status : Answered

Chosen Option : 4

Q.24 िनɻिलİखत समीकरण को संतुिलत करने के िलए िकन दो िच˥ो ं को आपस मŐ बदलने की आवʴकता
है?

28 + 14 × 7 ÷ 5 – 18 = 20

Ans 1. + और ×

2. ÷और +

3. ÷ और ×

4. ÷ और -

Question ID : 65497843996

Status : Answered

Chosen Option : 3

Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843094

Status : Answered

Chosen Option : 1
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Q.1 मेडागाˋर ______ महासागर मŐ İ̾थत है।
Ans 1. अटलांिटक

2. भारतीय

3. आकŊ िटक

4. Ůशांत

Question ID : 65497842096

Status : Answered

Chosen Option : 4

Q.2 भारत के संिवधान मŐ िनɻिलİखत मŐ से कौन सा संशोधन भाषा के आधार पर भारतीय राǛों के
पुनगŊठन को संवैधािनक ŝप से बदलने के Ůाथिमक उȞेʴ के साथ पाįरत िकया गया था?

Ans 1. दसवां संशोधन

2. सातवां संशोधन

3. चौथा संशोधन

4. छठा संशोधन

Question ID : 65497842812

Status : Not Answered

Chosen Option : --

Q.3 िनɻिलİखत मŐ से िकसने माचŊ 2021 मŐ अल ऐन 2021 पैरा शूिटंग िवʷ कप (Al Ain 2021 Para
Shooting World Cup) मŐ P4 ˢणŊ जीता?

Ans 1. मनीष नरवाल

2. राŠल जाखड़

3. दीपŐū िसंह

4. िसंहराज अधाना

Question ID : 65497843119

Status : Not Answered

Chosen Option : --

Q.4 कŐ ūीय बजट 2021-22 के अनुसार, 2021-22 मŐ राजकोषीय घाटा सकल घरेलू उȋाद का ______
Ůितशत होने का अनुमान है।

Ans 1.  6.8

2.  7.2

3.  7.6

4.  5.1

Question ID : 65497842794

Status : Not Answered

Chosen Option : --
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Q.5 िमǥी की अʅीय Ůकृित ______ की उǄ सांūता Ȫारा दशाŊयी जाती है।
Ans 1. नाइटŌ ोजन

2. हाइडŌ ोजन

3. फ़ा̾फ़ोरस

4. ऑƛीजन

Question ID : 65497844016

Status : Answered

Chosen Option : 1

Q.6 आिथŊक सवőƗण 2020-2021 के अनुसार, िवȅीय वषŊ 2021-22 मŐ भारत की वाˑिवक जीडीपी (GDP)
______ तक बढ़ने का अनुमान है।

Ans 1. 7%

2. 3%

3. 9%

4. 11%

Question ID : 65497842089

Status : Not Answered

Chosen Option : --

Q.7 दंितदुगŊ एक ______ शासक था, िजसने मलखेड मŐ अपनी राजधानी की ̾थापना की।
Ans 1. सातवाहन

2. रा Ō̓ कुट

3. Ůितहार

4. पाल

Question ID : 65497843513

Status : Answered

Chosen Option : 1

Q.8 िनɻिलİखत मŐ से कौन सा भारतीय अिधिनयम वषŊ 2005 मŐ पाįरत िकया गया था?
Ans 1. Ůित̾पधाŊ अिधिनयम

2. घरेलू िहंसा से मिहला संरƗण अिधिनयम

3. जैव िविवधता अिधिनयम

4. धन शोधन िनवारण अिधिनयम

Question ID : 65497842106

Status : Answered

Chosen Option : 2

Q.9 िनɻिलİखत मŐ से िकस ̾थान पर िदन और रात के तापमान मŐ अंतर सबसे अिधक होने की संभावना है?

Ans 1. माउंट एवरेː

2. िचʋा झील

3. थार रेिगˑान

4. अंडमान व िनकोबार Ȫीप समूह

Question ID : 65497844009

Status : Answered

Chosen Option : 3
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Q.10 भारत मŐ कहां पर 'कतŊन दहन Ůणाली (slash and burn)' कृिष को 'कुŜवा' कहा जाता है?

Ans 1. िहमालय बेʐ

2. पिʮमी घाट

3. ओिडशा राǛ

4. झारखंड राǛ

Question ID : 65497843512

Status : Not Answered

Chosen Option : --

Q.11 ______ पंजाब राǛ के संगीत का वोकल ŝप है।
Ans 1. टɔा

2. भजन

3. ग़ज़ल

4. कʫाली

Question ID : 65497843499

Status : Answered

Chosen Option : 1

Q.12 ₹7,904 करोड़ के दान के साथ, ______ को 'एडेलिगव ŠŜन इंिडया परोपकार सूची 2020' Ȫारा भारत
मŐ सबसे उदार परोपकारी घोिषत िकया गया।

Ans 1. मुकेश अंबानी

2. िशव नडार

3. कुमार मंगलम िबरला

4. अजीम Ůेमजी

Question ID : 65497842102

Status : Answered

Chosen Option : 4

Q.13 ऋƹेद मŐ ऋिष िवʷािमũ और देवी के ŝप मŐ पूजी जाने वाली दो निदयो ं के बीच संवाद के ŝप मŐ एक
भजन है। ये कौन सी निदयाँ हœ?

Ans 1. रावी और िचनाब

2. अलकनंदा और भागीरथी

3. ɯास और सतलुज

4. गंगा और यमुना

Question ID : 65497844019

Status : Answered

Chosen Option : 4
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Q.14 िनɻिलİखत मŐ से कौन पहले डॉ शांित ˢŝप भटनागर पुरˋार िवजेता थे?

Ans 1. सी वी रमन

2. एम एन साहा

3. के एस कृˁन

4. एस चंūशेखर

Question ID : 65497843114

Status : Not Answered

Chosen Option : --

Q.15 िनɻ मŐ से िकस रबी फसल के िलए Ɋूनतम समथŊन मूʞ (MSP) मŐ िपछले वषŊ की तुलना मŐ 2021-22 के
िवपणन सũ मŐ 50 Ŝपये Ůित İƓंटल की वृİȠ की गई थी?

Ans 1. चना

2. गेšँ

3. जौ

4. कुसुम

Question ID : 65497843098

Status : Not Answered

Chosen Option : --

Q.16 ______ का लƙ 2024 तक हर Ťामीण घर मŐ नल के पानी का कनेƕन Ůदान करना है।
Ans 1. जल जीवन िमशन

2. जल शİƅ अिभयान

3. अटल भूजल योजना

4. जल Ţांित अिभयान

Question ID : 65497842094

Status : Answered

Chosen Option : 2

Q.17 भारतीय रा Ō̓ ीय आंदोलन के दौरान, िनɻिलİखत मŐ से कौन सी घटना सबसे पहले Šई थी?
Ans 1. खेड़ा सȑाŤह

2. डांडी याũा

3. बंगाल का िवभाजन

4. साइमन कमीशन का आगमन

Question ID : 65497842808

Status : Answered

Chosen Option : 3

Q.18 गुŜ हेमकंुड सािहब की छत एक उलटे ______ के आकार मŐ है।
Ans 1. कमल

2. गुलाब के फूल

3. गŐͤदे के फूल

4. सूरजमुखी

Question ID : 65497844005

Status : Not Answered

Chosen Option : --
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Q.19  ______ एक ऐसे वातावरण को संदिभŊत करता है िजसमŐ ऑƛीजनआसानी से उपलɩ हो।
Ans 1. अवायवीय (Anaerobic)

2. वायवीय (Aerobic)

3. अʅन (Acidification)

4. मानवोदभवी (Anthropogenic)

Question ID : 65497842799

Status : Answered

Chosen Option : 2

Q.20 भारत के संिवधान का ______ संशोधन Ťाम सभा को राǛ िवधानमंडल Ȫारा सौ ंͤपे गए कायŘ और
शİƅयों को िन˃ािदत करने के िलए पंचायत राज Ůणाली की ̾थापना के ŝप मŐ पįरकİʙत करता है।

Ans 1.  74वां

2. 71वां

3.  73वां

4.  72वां

Question ID : 65497843521

Status : Not Answered

Chosen Option : --

Q.21 ______, िविकरण बेʐ चंुबकीय ŝप से फंसे Šए अȑिधक ऊजाŊवान आवेिशत कणों की िवशाल पǥी हœ
जो पृțी को घेरे रहते हœ।

Ans 1. İƓपर (Kuiper)

2. िचनूक (Chinook)

3. वैन एलेन (Van Allen)

4. ऑरोरा (Aurora)

Question ID : 65497843103

Status : Answered

Chosen Option : 2

Q.22 बैडिमंटन İखलाड़ी ______ ने माचŊ 2021 मŐ ऑल इंƸœड ओपन पुŜष एकल İखताब जीता।
Ans 1. ली ज़ी िजया (Lee Zii Jia)

2. मोमोटा कŐ टो (Momota Kento)

3. ली चोगं वेई (Lee Chong Wei)

4. िवƃर एƛेलसेन (Viktor Axelsen)

Question ID : 65497844027

Status : Not Answered

Chosen Option : --
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Q.23 ______ बल के परास का घातांक 10−16 m होता है।
Ans 1. गुŜȕीय

2. दुबŊल नािभकीय

3. Ůबल नािभकीय

4. िवद्युत चुɾकीय

Question ID : 65497843505

Status : Answered

Chosen Option : 2

Q.24 अŮैल 2021 तक की İ̾थित के अनुसार, िनɻिलİखत मŐ से कौन लंदन मŐ नेहŝ सŐटर के िनदेशक हœ?
Ans 1. अिमताभ घोष

2. अमीश िũपाठी

3. िवŢम सेठ

4. चेतन भगत

Question ID : 65497842810

Status : Not Answered

Chosen Option : --

Q.25 ______ को 24 िसतंबर 2019 को ˢǅभारत अिभयान के िलए िबल एंड मेिलंडा गेट्स फाउंडेशन से
'Ƹोबल गोलकीपर' पुरˋार Ůाɑ Šआ।

Ans 1. नरŐū मोदी

2. Ůणब मुखजŎ

3. मनमोहन िसंह

4. रामनाथ कोिवंद

Question ID : 65497843105

Status : Answered

Chosen Option : 1

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844029

Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude
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Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842129

Status : Answered

Chosen Option : 4

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842537

Status : Answered

Chosen Option : 3

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843122

Status : Answered

Chosen Option : 1
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Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844034

Status : Answered

Chosen Option : 4

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844254

Status : Answered

Chosen Option : 1

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842830

Status : Answered

Chosen Option : 4
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Q.8

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844641

Status : Answered

Chosen Option : 1

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843532

Status : Answered

Chosen Option : 1

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844654

Status : Answered

Chosen Option : 1

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842833

Status : Answered

Chosen Option : 1
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Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844044

Status : Answered

Chosen Option : 1

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842116

Status : Answered

Chosen Option : 2

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842827

Status : Answered

Chosen Option : 4

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843538

Status : Answered

Chosen Option : 4
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Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842122

Status : Answered

Chosen Option : 4

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843121

Status : Not Answered

Chosen Option : --

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843140

Status : Answered

Chosen Option : 4
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Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843142

Status : Not Answered

Chosen Option : --

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842119

Status : Answered

Chosen Option : 3
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Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842127

Status : Not Answered

Chosen Option : --

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842824

Status : Answered

Chosen Option : 4

Q.23

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842835

Status : Answered

Chosen Option : 2
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Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843548

Status : Answered

Chosen Option : 3

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844643

Status : Answered

Chosen Option : 4

Q.1 Select the most appropriate meaning of the given idiom.

Stone’s throw

Ans 1. Hurt slightly

2. Large hurdle

3. Short distance

4. Difficult problem

Question ID : 65497843570

Status : Answered

Chosen Option : 3

Section : English Comprehension
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Q.2 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

This question / is quite too / simple for me / to answer.

Ans 1. simple for me

2. is quite too

3. This question

4. to answer

Question ID : 65497842844

Status : Answered

Chosen Option : 2

Q.3 Select the option that expresses the given sentence in direct speech.

Manan said that he had no work to do that day.

Ans 1. Manan says, “I had no work to do that day.”

2. Manan said, “I have no work to do that day.”

3. Manan said, “I have no work to do today.”

4. Manan said, “Have I no work to do today?”

Question ID : 65497843561

Status : Answered

Chosen Option : 3

Q.4 Select the most appropriate ANTONYM of the given word.

Ascent

Ans 1. Present

2. Resent

3. Descent

4. Patent

Question ID : 65497844072

Status : Answered

Chosen Option : 3

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Study of insects

Ans 1. Entomology

2. Biology

3. Geology

4. Ecology

Question ID : 65497842864

Status : Answered

Chosen Option : 1
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Q.6 Select the most appropriate synonym of the given word.

Solemn

Ans 1. Dignified

2. Frivolous

3. Excited

4. Trivial

Question ID : 65497843161

Status : Answered

Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’. The old
lady needed love and care beyond money.

Ans 1. beside

2. besides

3.  No substitution required

4. beneath

Question ID : 65497844067

Status : Answered

Chosen Option : 2

Q.8 Select the option that expresses the given sentence in passive voice. 

The Smiths have put up a huge Christmas tree.

Ans 1. A huge Christmas tree is being put up by the Smiths.

2. A huge Christmas tree was put up by the Smiths.

3. A huge Christmas tree is put up by the Smiths.

4. A huge Christmas tree has been put up by the Smiths.

Question ID : 65497842847

Status : Answered

Chosen Option : 4

Q.9 Select the correct passive voice of the given sentence.

Preeti invited Ritu for a party.

Ans 1. Preeti has been invited for a party by Ritu.

2. Preeti was invited for a party by Ritu.

3. Ritu was invited for a party by Preeti.

4. Ritu is invited for a party by Preeti.

Question ID : 65497843149

Status : Answered

Chosen Option : 3
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Q.10 Select the most appropriate ANTONYM of the given word.

CLENCH

Ans 1. Relax

2. Clasp

3. Tighten

4. Hold

Question ID : 65497843568

Status : Answered

Chosen Option : 1

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Your eldest sister / lives in / a big city, / does she?

Ans 1. a big city

2. lives in

3. does she

4. Your eldest sister

Question ID : 65497843246

Status : Answered

Chosen Option : 3

Q.12 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

There is a very little time / for them to prepare / for the show.

Ans 1. for them to prepare

2. for the show

3. There is a very little time

4. No error

Question ID : 65497843552

Status : Answered

Chosen Option : 3

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I imagine you have learnt a valuable lesson from this experience, didn’t you?

Ans 1. have you?

2. No substitution required

3. did you?

4. haven’t you?

Question ID : 65497843159

Status : Answered

Chosen Option : 4
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Q.14 Given below are four sentences which are jumbled. Pick the option that gives their
correct order.

A. It is a Park quite different from any other we have seen.
B. One difference is that it is made from nearly 250 tons of scrap.
C. Another difference is that it is powered by wind and solar energy
D. A new Park called Bharat Darshan Park has been thrown open to the public in New
Delhi.

Ans 1. BACD

2. ACDB

3. DBCA

4. DABC

Question ID : 65497843160

Status : Answered

Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Harish’s voice ______ in the empty rooms of their new house.

Ans 1. reverted

2. resounded

3. relapsed

4. resorted

Question ID : 65497842160

Status : Answered

Chosen Option : 1

Q.16 Select the INCORRECTLY spelt word.

Ans 1. Aisle

2. Altar

3. Attick

4. Adorn

Question ID : 65497842866

Status : Answered

Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Drawings or writing scribbled on walls in public places

Ans 1. Graffiti

2. Posters

3. Hoardings

4. Sketches

Question ID : 65497842158

Status : Answered

Chosen Option : 1
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Q.18 Select the most appropriate meaning of the given idiom.

Dark horse

Ans 1. A mean person

2. A slow runner

3. An unexpected winner

4. An honest fellow

Question ID : 65497844074

Status : Answered

Chosen Option : 3

Q.19 Select the most appropriate synonym of the given word.

Lacuna

Ans 1. Apathy

2. Misfortune

3. Languor

4. Hiatus

Question ID : 65497842859

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

If he wants / farther information, / send him / to me.

Ans 1. to me

2. send him

3. If he wants

4. farther information

Question ID : 65497842943

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time
to rethink. Yoga is (1) ______ more. In very simple words, giving care (2) ______ your body,
mind and breath is yoga. Derived (3) ______ the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) ______ 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) ______ the mind and breath through means of various breathing
exercises, yoga poses (asanas) and meditation.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

Ans 1. much

2. few

3. many

4. all

Question ID : 65497842142

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time
to rethink. Yoga is (1) ______ more. In very simple words, giving care (2) ______ your body,
mind and breath is yoga. Derived (3) ______ the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) ______ 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) ______ the mind and breath through means of various breathing
exercises, yoga poses (asanas) and meditation.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans 1. for

2. to

3. on

4. at

Question ID : 65497842143

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time
to rethink. Yoga is (1) ______ more. In very simple words, giving care (2) ______ your body,
mind and breath is yoga. Derived (3) ______ the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) ______ 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) ______ the mind and breath through means of various breathing
exercises, yoga poses (asanas) and meditation.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans 1. from

2. out

3. by

4. of

Question ID : 65497842144

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time
to rethink. Yoga is (1) ______ more. In very simple words, giving care (2) ______ your body,
mind and breath is yoga. Derived (3) ______ the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) ______ 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) ______ the mind and breath through means of various breathing
exercises, yoga poses (asanas) and meditation.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans 1. the

2. one

3. a

4. an

Question ID : 65497842145

Status : Answered

Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If you thought that yoga was all about bending and twisting your body in odd shapes, it’s time
to rethink. Yoga is (1) ______ more. In very simple words, giving care (2) ______ your body,
mind and breath is yoga. Derived (3) ______ the Sankrit word ‘yuj’ which means ‘to unite or
integrate’, yoga is (4) ______ 5,000-year-old Indian body of knowledge. Yoga is all about
harmonising the body (5) ______ the mind and breath through means of various breathing
exercises, yoga poses (asanas) and meditation.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans 1. across

2. with

3. on

4. at

Question ID : 65497842146

Status : Answered

Chosen Option : 2
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